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Eto: 2 xe]-E. Il
d) N4x y' +4xy =0

a)(1 - 4x2)y' +4xy =0 2) (1-4x)y' +8xy =0f)(1-4x))y'+16xy =0

=>

y'+xy =0
y'+,xy =0

=>y +ety =
0 y+,yzy =0

=>y+a(x)y
=0

=>y+a(x)y =0 (lu(1-4xY)1 =- 8x (2)(h(1-4x21)- - 0x
(-2)

1-4x2 1- 4x2x= Si(en(1-xx4):=;exé)
=y(x) =c.e-saxa1 CEIR =16

y(x) =0e
a(x)dx

CERR
=+x =Celn)-xx 1-4x4
1-4x2

=CeErx] =((1-4x) =y(x) =c.efaxd
-2et -Sa(x) dx =(.e2h(1

- yx))

y(0) =1 =-ce =1 y(x) =2.e
CERR

y(0) =1 =(-2h()
- xx 2)2)

=>C =e-
1

en (x2)
=>C =1

-
=Cela(1-4

#2-I =Ce
y(x)

=

e

=CFTx
y(x)=1- +x

y(0) =1
=>C =1

y(x) =04x2

Eto:24y"- 3y'+2y=4x
a) Yp(x) =ax+bx+c

y((x) =2ax +b, yp(x) =2a

2a - 3(2ax+b) +2(ax+bx +c) =4x2

-=>2ax+(2b- 6a)x +(2x +2a - 3b)
=4x2

2a =4 a=2

=>ab-cazo =>Gabenzo ={ =>(8 3n(x) =2x+6x+E
2+2a -3b =0 +- 3b+x =0 2 =

-+ +18=14

b) (H):y"+3y'+zy =0

Équation caractéristique =Cie+(ex

2 - 3x +2 =0 Yy(x) =yu(x) +yp(x)
1 =9 - 8 =170

11 =3 =1,32 =

341 =2

(H):y"+4y =0, ay"ty'+(y
=0siEto: 25

y" +4y =cosX

Eq. caractéristique yn(x)
=(,c0s (x) +(2 sin (2x) Ce.C2 El

3+4=0 Sin(-2x)
=>2=-4

=>31 =2i,32=-2i

-

31,2 =2i


